(#* DI FFERENZE DI VI SE *x)

C ear [f]

n =4;

x[0] =0; f[0] =-1.0;

x[1] =0.25; f[1] =0.5;
x[2] =0.5; f[2] =2.0;

x[3] =0.75; f[3] =3.0;
Xx[4] =1.0; f[4] =2.5;
(*#*x[0]=1.;f [0]=0. 7651977,

x[1]=1.3; f [1]=0. 6200860
x[2]=1. 6; f [2]=0. 4554022;
x[3]=1.9; f [3]=0. 2818186;
X [4]=2. 2; f [4]=0. 1103623; #+)

ff = Tabl e[{x[K], f [K]}, {k, O, n}]
({0, -1.3}, {0.25, 0.5}, {0.5, 2.}, {0.75, 3.}, (1., 2.5}}

ticksl= ({0, 0.2, 0.4, 0.6, 0.8, 1}, {-1, 0, 1.2, 3}};
pll=ListPlot[ff, PlotStyle- PointSize[0.02], Ticks »ticksl];

(» ALGORI TMO 3.2 del Faires Burden =x)

Do[d[k][0] =f [k], {k, O, n}]

Do[d[k][j]=(d[kI[j -1]-d[k-11[j -11)/ (x[k]-x[k-j1), {k, 1, n}, {j, 1, k}]
pnix_] =Sum[d[k] [k] *Product [ (x -x[j 1), {j, O, k-1}1, {k, O, n}1;

pl 2 =Pl ot [pn[x], {x, 0, 1.2}1;

Show([pl 1, pl 2, Pl ot Range » {{0, 1.2}, {-1, 3.5}}]
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Do[Print["k =", k, " x =", x[k], " f =", f[kll, {k, 0, n}]
x =0 f = -1.

x = 0.25 f =0.5

x = 0.5 f = 2.

x = 0.75 f = 3.

x = 1. f =2.5

Do[Print["k =", k," j =",j, " d = drkirj11, {k, 0, n}, {j, O, k}]
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